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|, Chemical equilibrium |
2. Inteenal energy
3. Isplated system

4, Surface tension
5 [sothermal reversible expansion
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6. Calculate the heat evolved in the freezing of waler at constant pressure and

temperature of - 10°C, given 8 Hyo = -79.9 cal g"; Cpuoy = 1-00 cal gy and
Chio = 0-49 cal g, (10%)

Prove that the difference in the entropy change between the reversible and

the irreversible processes for the freezing of water at - 10°C is 0.18 cal
deg”' mole’. Explain the meaning of the difference.
(G =797 val g-1) (20%)

e mole of steam is compressed reversibly lo liguid water at the boiling

paint 100% . The heat of vaporization of water at 1007 and TaCmm is 539.7
cal g*. Calculate w and g and each of the thermodynamic quantities’ A LA E,
AGAA andD S The process is reversible, isothermal, and isobaric. (20%)
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9. Figure 1 is the temperature — compasition diagram for the system zinc —

rnagnesium. Please give the phases that will be present in the numbered areas:

a, b, c, d ande f_m?/;)
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